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ACF M.NF R, N EERE

PE+PF=AM.

' M#1¥ BDPM R¥47 Ak,

~.MB=PD.
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4B 5D 6.C 7. C

.M (DX 8RNI HEHERERE:
%(33+32+28+32+25+24+31+
35)=30().



(2)30X181=5 430 (7).
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(2)3% 8 MR P HHE -

z=%(so+55+75+55+55+43+

65+40)=56(4).

Frihix 8 BFEEEREKEEN TR
SEHIEF RN 56 4.

BH A 56<60, Frl B2 £ B R 5% M
KA BT3B R 5 B S R B OR.

8. (DGR T :

SEEESHF

(2)¥i@§i5=;—0(3x3+4x4+5><5

+6><5+7><8+8><2+9><2+10><1)=%
X180=6(41);
R AT H, ARECK 7 43,
18

(3)300><%=180(}\).

E AT RS HRIAEH 180 A.

. (DEARSEREEREHARE
9.2 4.

QAR SFHFENTHRSR:(7.1X1
+7.4X2+7.7X34+7.9X248. 4 X14+8. 8 X
54+9X4+9.2X6+9.4X54+9.6X1)+
a+2+34+2+1+5+4+6+5+1)=261~+
30=8.7(4.

QOARSFEEAIH 30 A, 153
30 NEHE B axX S B A N B R HEF, R A
BORSE 15,58 16 MR PIH %L WSS 15,
F16MRBHE I BMARSERFER
SRR 94, B 8. 8T, BT
NI Rl 2 1 Lt 38 R &1 4k T 2 28 3% F 19 T IR
BT SR R AR TR,

£3% AAHABRFHK

1.21.823 529 2.10 3.C

4. P FNTANAET 12 475 .

5. P E LSl 68. 825 4.

6. (1)0.334 (2)353 (3) 3.72

ARG G %3

—.1.B 2.B 3.C 4. D 5 C
6. D 7. C 8. B

=.9. HHEBES:{ 0,2003,3.144,

— 2, R RRBRA -
%, —+/2, 4/0.9,5.123 456 789 101 112 13
= UNECER 23 B 2 SR A0 IE B O )
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CEWAR - MY - AEE(L)

11. 3 12. 30

13. 60°,90°,120°,135°

4. EEAUFHE+ LS

15. A 180° AR a s > 180°

16. 75°

=07 D22 @0 1 W6

18. H&

19. (DMK TR WXL ZE 4
A A S WP AT M 5 (2) AR
KW PR AR HE, HHENE
.

20. B&

21. (D —1,2n,n*+1

DU aboc AAM=ZAREREA=
.

BH "t + 5= — D +an?

= 0t =20 +1+4nt= n* +2n*+1

=(nt+1Di=71,

Slab.c A=A REA=
.

22. BAEBIEH , IE P BE.

23. (LAD//BC,.. HE PD=CQ,
ER] 5 W PQCD £¥-17 WA k.

HEEE 24—1t=23t, B t=6(s).

Bp z 6 s i, Mg PQCD 247 1M
BiE.

@B, REY =6 s i, MilE
PQCD A& VA7 WJE , Mk iy PD=24—
t = 18, CD = /AB*+(BC—AD)* =

V8 +2=2 \/17. PD#CD, H i, 4 31 &

PQCD AT RERZETE.

(HEILWHFE PQCD 2E A, W
H AP=BQ.Rp t=26—3¢, %5 t=6.5(s).
BpY:=6.5s B, W#1J¥ PQCD A EH A
BIE.

HARGE %S

—.1.B 2.D 3.C 4 D 5 A
6. B 7. C 8. C

—=.9.4/3 10. —%,3.6

12. 12 13. %EHA
14. 443,843

1223
15. { 16. 4
y=0

11. 82

=.17. () 743 (@)3

1233 1223

18. (1){ (2){

y= y=2
19. AE 5 CF Y47 B %, B hmg
20. (1) 40. 65, 41, 40 (B fir; cm);
(2) BERAE—, HEGHAPT .
21. B
22. (DT LA, B B 5

(2) BFRAHEEFN LT ELE.
23. (Dy=-4X@+2—2)X2,
B y=4—2(0<<2<<2).

@Y y=S b, T 2=

YR PHBWC =3, ik
APCD BB Sk /)
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